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听力课堂,开放式英语学习平台！www.TingClass.net

​When you first heat sugar solution, it boils at a temperature specific to that particular sugar-water ratio. As the water boils out, the solution gets more concentrated and the boiling point goes up. Eventually, all the water boils out and the temperature stays at the boiling point for sugar alone. A syrup with more sugar and less water makes harder candy and also boils at a higher temperature. As you boil the syrup you know water is disappearing because the boiling point goes up. When the boiling point reaches the right temperature, you know you have just the right ratio of sugar to water. That way, when the mixture cools you’ll get the kind of candy you want.
学英语，练听力，上听力课堂。【免费英语听力下载】www.tingclass.net
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